Telemetry – Scottish Water

Scottish Water is responsible for supplying Drink Water and WasteWater services for the whole of Scotland. To achieve this they have at present: -

· 2155 
Waster Water Treatment Works

· 800
Water Treatment Works 

· 1579
Pumping Stations

· 2000
Service Reservoirs

To manage all of these assets as efficiently as possible the vast majority has Telemetry Outstations so that Scottish Water's control centre can on a 24-hour basis remotely monitor important works and take appropriate action when an alarm is received.

There are 2 types of signal that require monitoring they are analogue signals, which are continuous in nature and digital signals, which are discrete. 

An example of an analogue signal would be a reservoir level with a typical range of 0-5 metres. An example of a digital signal would be Intruder alarm, with a 0 state representing the alarm condition and a 1 representing a normal condition.

The following slides (see attached PowerPoint file) takes you through how we collect analogue data and transmit it back to our Control Centre and display the value on our Water Management System. The mathematics behind it is basic straight-line theory, using three straight-line equations to get the actual value at the reservoir to be displayed on Scottish Water's Water Management System.

*** Telemetry - 
use of electronic devices to record or measure a distant

                                    Event and transmit the data to a receiver.

The attached PowerPoint Presentation gives some background info first and then gives a summary of the mathematics involved. It may also be of use (he says making a big assumption!) for Technology or Physics classes.
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